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OVERVIEW

»X cited a mwn (regarding 773 07) which proves that 2197 X 27 2991 2.
However, X217 challenged and claimed that the case of that 71wn 1s where there is a
211 and a "¥» against the 2172, so it does not prove that 217 alone is stronger than
217p. The X3 continues with citing the Xn>72 which X1 " taught (also regarding
7171792 XX¥117 a7). There are two NMIXDI; one (the way it is in our MA3) 1s 1" °1NT,
meaning that X237 is proving his distinction from the teaching of 1"9. The other is
n"3°1n, in which this Xn»12 is cited to pose a contradiction in the words of X27.!

= NI 3918199 2199 NONN 2N 351 NN N7 1209 IN DAN 29%9Y INN 1N 1°09) N
If the text reads X>n ' sin it is understood; however, if the text reads sin7,
(indicating that X237 is finding support for his contention that here it is a "1¥n1 210
therefore we follow the "xm 217), it is astounding, how can X329 bring a proof

from this Xn>72 of 11" that the reason for his ruling is because it is 318721 219 (but if

it would only be 217 then [perhaps] we do not follow the 217), but what proof is there -
= 9NN NN 1YY PONYT NN 229 MNP MINNY 2197 DIVN IND NNIDYT

Perhaps when 1'' rules that we burn the 7290 on account of this X it is

not because it is a case of 211 and "x» -
- NN 299 2990 NN 791 2999 2997 DIYN NIN

But rather because that by 31991 219 we follow the 2319 (even if it is not M1X»), as '3
N319377 ruled?! Therefore the X077 of "1n is preferable over 1n7.

mooIn explains that it is possible to be "1n7' 0MA:
= 119957197 NIN NI2) NN 5NN XA 29299 KD 23NT 19209) 1729RT »D 4N

(And it appears to me that even if the X09°3 is) [And one can say that this
which is stated] 13''9 san7, it is not from the words of 829, but rather the X921 is

I'See footnote # 2.
2 The x> cites 1" and the ensuing three »"Ww of X317 to pose a contradiction in the words of X27. Initially X217
claimed that there is no proof rom 1711792 X¥n377 07 that 7°7Y X217 (since it is M1¥M1 217) and then X217 comments on the
Xn»12 of 1" that we can derive from it that 77y X217, despite that X217 himself says that by 71771792 X¥n17 07 it is a
case of »¥m 21, so we cannot prove from there that 21777 1K 7127 21991 2.
3 211 means that there is more 07 in the 777, than there is in the 7%y, "% means that it is more frequent that the o7 in
the 717110 comes from the 277 than it comes from the 7°°5v.
4 The n"2n M7 amends this to read X% XM %29 %107 877 9% w9 (instead of K7 *1n7 1°073 177087 5"1)
5> Even if the X077 is *1n7 it does not mean that X231 is citing 1" to prove his point (that it is »1¥»1 217), but rather the
X773 is citing this Xn*12 to prove what »aX stated, as Moo continues to explain.
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citing the xn>12 of 1", to inform us -
= 62990 9NN 91 21999 2197 N1 PPNINNN AN NN NN PaVY

That 28 correctly proved from the ;73w in 7771 '0n that by 21991 319 we follow

the 201, -
= NI NP0 IND Tn99 DY 7NNV 19290 NPT 2) by N1

For even though the mwn states X»w 220, nevertheless, perforce you must say

that it is not a doubtful 7xm v, but rather a N} AxMY -
Jnnian »hy 1299 8\’)‘1‘,7)3 NN Yy by 123909 NN 229 NN

Since 11''9 taught that one is liable for it when entering the wTp»7 n°2 and one
burns 72190 on account of it.

(An annotation to n001N)
= NN MM 2197 NY N1 NAIT N 10079010 (794)

And the 2''97% states that indeed 829 cited this Xn>72 of 11" to show that the case
of M7M79 is indeed 131 299 (and that is why we follow the 211) -

- LIN950 539 3301 1Y 11PNV 113 NISIN 539 19 ¥NYN NP INM 19 DN 580 INPN INT
For if the reasoning of X171 "1 is not because of 211 and »x» (but just on account of
217 alone), we have a difficulty, for then what is K117 '3 teaching us (that we
follow the 217), since we already know of it from the Xn>92 of X1 '3 -

nooIn responds to an anticipated difficulty:!'?
- 199)A9 919 7150 XD D137 PHINNM YaN

However, X217 could not have proved this from the 7w in 7771 'on -

6 Otherwise, without the X032 of "1 we can reject the proof from the 7w that 2177 nX 77
7 The mawn reads that X0 W29 NTINI02 X¥M17 07, which could indicate that the 7X@ is poon. Therefore we cannot
derive from this mwn that 21177 X 127, because here the 781 is only a Pod, we are not sure whether to follow the
277 or the 217p, so we go X117 and rule that she is poon xnv. The whole proof of »ax could be rejected.
8 If this woman entered the 7"na (before she was 21 from this M171792 X¥n17 a7) she would be N> 21 if it was
7712 or a nXviT 127 if she entered aw3. See following footnote # 9.
% If this woman touched 72170, we would be required to burn it as 7xnv 7210, Had this been a 7xnw poo only, we
would not allow here to bring a nXun 1277 (because maybe she is 2170, and she would be bringing 77192 1911), and
we would not burn the 772170, since it is only ¥nv pod; we cannot burn it because it may be 770 and it is forbidden to
burn 770 7170, The ruling of 1"7 proves to us that it is a N°RT1 XMW, thus proving »ax correct.
10 This may be any of the '01n77 *7v2 (whose name starts with a 2”n) including but not limited to, >27,7wn *27 ,7°Rn 21
oW, etc.
' However, if we assume that case of 717179 (and therefore the ruling of X»n ') is a situation of "2 217, then we
can understand the novelty of X1°117 21 that not only do we follow the 217 when it is joined with a "% (as in the case
of 717119), but even if it is 217 by itself, it is also stronger than 217p. See ‘Thinking it over’.
12 According the 0"2mn here, why did X271 need to cite the 11"97 X012, he could have deduced the same from the
mwn. The mawn states that she is Xnv proving the 2117 IR 77927, why do we need X1°1r1 . The exact same proof that
X271 brings from 11", he could have brought from the m1wn?!
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= JUINWUNRD RINN 229 THRIN MHNNI 219 19N ON ID2ONY
For even if we are to assume that it is not a case of %1%y 219, nevertheless it was

necessary for 1'% to inform us that 2197 0 797 21991 217, for we could not know it

from'? the mwn -
= 1Bynn pPav MN NNV 1PV NI NOY

So that we should not say that when the 71wn states R»W 12599 it meant an actual

720 that the woman is P90n XY only, not a X™IW XTY; in order to disabuse us from this notion,
"1 stated clearly 2177 nR 7191 —

Moo responds to an anticipated difficulty:
= 15598999 219 M1 RYT 90RPY A9 723 9907 NN

And according to what X239 retracted and stated that the case of 7171179 is not

considered >13%1 219 (but only 21) -
= NI NI 2197 NN MN NN 239 N1 INT 1IOMNYND NN 229 TPION

It is nevertheless necessary for X101 '3 to teach us (2177 2nxR 7790), for if we only

had the Xn>932 of X»r '3, I may have assumed the 7171179 is a case of %1%12Y 319 and

only then do we follow the (*1xn1) 217, therefore -
$(A7077 )83 7)) NID M1812) 299 INDT NI2IN 229 1D ynRvn Xp

1''s taught us that it need not be 1%%Y 219 for even by 211 alone 2177 X 797, (This
concludes the annotation)

SUMMARY

We can be "1n7' 0773, saying that the X773 is citing 11"7 to bolster the proof of 2R,
or that indeed X217 is saying it that it proves *1¥m1 217, for otherwise what is the 17
of X177 .

THINKING IT OVER

The 0"77n explains that X217 proves that it is "X 217, for otherwise what is the
v17°m of "7, since we learnt it in a Xn»72. Why can’t we say that X3°17 "3 did not
know of this Xn>>2, so what is s'X27 proof?!'¢

13 See footnote # 7.

4 However, regarding the Xn>™32 of 1" there is no room for such a mistake, since he states wW7pn NX*2 %Y 19y PI»m
7N DR 1Oy o, which indicates that it is a nXTY A8, See footnote # 9. The 7Iwn is to be understood that
even though it is a oo (it is possible that it came from the %), nevertheless she is N°XT1 IXMY, because 2177 AR 1.
15 The difficulty is, if the case of 717179 in only 211 and we follow the 211 against the 217p, what is X117 ' teaching
us? We know it already from the case of 7171175?

16 See o»n nn.
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